2008 Advanced Coding Theorem HW#1

Due date :2007.03.26

L A)

1. The same as the example in Lecture 2 except —> = % and
0
r=(»14,-1.6,-09,-1.1,-0.3,1.1,-0.3,0.6).
(a) Perform SOVA decoding.
(b) Perform Max-log-MAP decoding.
(c) Perform Log-MAP decoding.
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(a) Plot the trellis diagram.
(b) ¢, ,(I)=?forlog-MAPand1=0,1,2,3.(I=m-2+m,)
(c) p)=?forl=0,1,2,3.
(d L(c)="
i=t-1 |i=t i=t+1
e M 0.1 0.25 0.4
2 2
o= X, (1)
exp (— ﬂ 0.4 0.5 0.1
11— %)
exp(_‘ a - : ‘ 025 | 03 0.5
a priori
probability 0.5 0.25 0.6
Pi(Ct=0)
@,_,(0)=0.5 B..(0)=0.1
q_, @»)=0.2 /Bt+1(1) =05
a4, (2)=0.25 :6t+1(2) =0.25
a,,(3)=04 B..(3)=02
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